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Part A

Section Id : 686340203
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340332
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 68634010224 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



She thinks how she fought a flood during her husband's absence. She stood for hours in the drenching
downpour. and dug an overflow gutter to save the dam across the creck. But she could not save it. There are
things that a bushwoman cannot do. Next morning the dam was broken. and her heart was nearly broken too.
tor she thought how her husband would feel when he came home and saw the result of years of labour swept
away. She cried then.

She also fought the pleuro-pneumoma - dosed and bled the few remaining cattle, and wept again when her two
best cows died.

Again. she fought a mad bullock that besieged the house for a day. She made bullets and fired at him thorugh
cracks in the slabs with an old shot-gun. He was dead in the morning. She skinned him and got seventeen-and-
sixpence for the hide.

She also fights the crows and eagles that have designs on her chickens. Her plan of campaign is very original.
The children cry "Crows. mother!" and she rushes out and aims a broomstick at the birds as though it were a
gun. and says "Bung!" The crows leave in a hurry: they are cunning, but a woman's cunning is greater.

Ocassionally a bushman in the horrors, or a villaimnous looking sundowner. comes and nearly scares the life out
of her. She generally tells the suspicious-looking stranger that her husband and two sons are at work below the
dam. or over at the yard. for he always cunningly mquires for the boss.

Sub questions

Question Number : 1 Question Id : 68634010225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |She saves the dam [. By aiming a broomstick
B. |She fought a mad bullock II. |The skin of the bullock
C. |5he fought the crows and eagles| II1. [By firing bullets
D. |She =old IV. By digging an overflow gutter

Choose the correct answer from the options given below:

1. A-TII. B-1. C-IV, D-I1

| )

CA-IL B-IV. C-1, D-III
3. A-IV. B-1. C-TII. D-II
4. A-IV, B-111, C-I. D-II

Options :

68634040401. 1
68634040402. 2
68634040403. 3
68634040404. 4

Question Number : 2 Question Id : 68634010226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How did 'she’ kill the mad bullock?

1. She hit him with a broomstick

2

. She skinned him and he died
3. She fired bullets with an old shot gun
4, She fought with it and hit him hard
Options :
68634040405. 1
68634040406. 2

68634040407. 3
68634040408. 4

Question Number : 3 Question Id : 68634010227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

She fought with the crows and eagles because

1. They were making a lot of noise

[

. They wanted to tease her cattles
3. They were a nuisance

4. They wanted to eat her chickens

Options :

68634040409. 1
68634040410. 2
68634040411. 3
68634040412. 4

Question Number : 4 Question Id : 68634010228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option:

From the passage it can be said that 'SHE' is a lady:.

1. Suspicious

b2

. Cruel
3. Brave
4. Sensitive

Options :
68634040413. 1



68634040414. 2
68634040415. 3
68634040416. 4

Question Number : 5 Question Id : 68634010229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the sentence. "They are cunning. but a woman's cunning 1s greater 'THEY" refers to

1. Cattles

[ )

. Chickens
3. Cows
4, Crows

Options :

68634040417. 1
68634040418. 2
68634040419. 3
68634040420. 4

Question Id : 68634010224 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

She thinks how she fought a flood during her husband's absence. She stood for hours in the drenching
downpour, and dug an overflow gutter to save the dam across the creek. But she could not save it. There are
things that a bushwoman cannot do. Next morning the dam was broken. and her heart was nearly broken too.
for she thought how her husband would feel when he came home and saw the result of years of labour swept
away. She cried then.

She also fought the pleuro-pneumonia - dosed and bled the few remaining cattle, and wept again when her two
best cows died.

Agam. she fought a mad bullock that besieged the house for a day. She made bullets and fired at him thorugh
cracks in the slabs with an old shot-gun. He was dead in the morning. She skinned him and got seventeen-and-
sixpence for the hide.

She also fights the crows and eagles that have designs on her chickens. Her plan of campaign is very original.
She also fights th d eagles that have desig her chickens. Her plan of g ginal
The children cry "Crows, mother!" and she rushes out and aims a broomstick at the birds as though it were a
gun. and says "Bung!" The crows leave in a hurry: they are cunning. but a woman's cunning is greater.

Ocassionally a bushman in the horrors, or a villainous looking sundowner. comes and nearly scares the life out
of her. She generally tells the suspicious-looking stranger that her husband and two sons are at work below the
dam, or over at the yard. for he always cunningly inquires for the boss.

Sub questions

Question Number : 1 Question Id : 68634010225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTIT
A |She saves the dam I. |By aiming a broomstick
B. [She fought a mad bullock I1. [The skin of the bullock
C. |She fought the crows and eagles| II1. [By firing bullets
D |She sold IV By digging an overflow gutter|

Choose the correct answer from the options given below:

1. A-IIL. B-I. C-IV, D-I1

|

CA-IL B-IV. C-1, D-ITT
3. ATV, B-1. C-II1L, D-I1
4. A-IV. B-111. C-1. D-I1

Options :

68634040401. 1

68634040402. 2

68634040403. 3
68634040404. 4

Question Number : 2 Question Id : 68634010226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How did 'she’ kill the mad bullock?

. She hit him with a broomstick

—

b2

. 5he skinned him and he died

LFS]

. She fired bullets with an old shot gun
4. She fought with it and hit him hard

Options :

68634040405. 1
68634040406. 2
68634040407. 3
68634040408. 4

Question Number : 3 Question Id : 68634010227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



She fought with the crows and cagles because

1. They were making a lot of noise

| B

. They wanted to tease her cattles
3. They were a nuisance
4. They wanted to eat her chickens
Options :
686340404009. 1
68634040410. 2

68634040411. 3
68634040412. 4

Question Number : 4 Question Id : 68634010228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option:

From the passage it can be said that 'SHE' is a lady:.

1. Suspicious

| )

. Cruel
3. Brave
4, Sensitive

Options :

68634040413. 1
68634040414. 2
68634040415. 3
68634040416. 4

Question Number : 5 Question Id : 68634010229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the sentence. "They are cunning, but a woman's cunning is greater "THEY" refers to

1. Cattles

| B

. Chickens
3. Cows
4, Crows

Options :
68634040417. 1



68634040418. 2
68634040419. 3
68634040420. 4

Question Id : 68634010224 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

She thinks how she fought a flood during her husband's absence. She stood for hours i the drenching
downpour, and dug an overflow gutter to save the dam across the creek. But she could not save it.There are
things that a bushwoman cannot do. Next morning the dam was broken. and her heart was nearly broken too.
for she thought how her husband would feel when he came home and saw the result of years of labour swept
away. She cried then.

She also fought the pleuro-pneumonia - dosed and bled the few remaining cattle, and wept again when her two
best cows died.

Again. she fought a mad bullock that besieged the house for a day. She made bullets and fired at him thorugh
cracks in the slabs with an old shot-gun. He was dead in the morning. She skinned him and got seventeen-and-
sixpence for the hide.

She also fights the crows and eagles that have designs on her chickens. Her plan of campaign 1s very original.
The children cry "Crows, mother!" and she rushes out and aims a broomstick at the birds as though it were a
gun. and says "Bung!" The crows leave i1 a hurry: they are cunning. but a woman's cunning is greater.

Ocassionally a bushman in the horrors, or a villainous looking sundowner. comes and nearly scares the life out
of her. She generally tells the suspicious-looking stranger that her husband and two sons are at work below the
dam. or over at the yard. for he always cunningly inquires for the boss.

Sub questions

Question Number : 1 Question Id : 68634010225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTIT
A |She saves the dam I. |By aiming a broomstick
B. [She fought a mad bullock I1. [The skin of the bullock
C. |She fought the crows and eagles| II1. [By firing bullets
D |She sold IV By digging an overflow gutter|

Choose the correct answer from the options given below:

1. A-IIL. B-I. C-IV, D-I1

|

AL B-IV. C-1L D-IIIT

3. A-IV, B-1. C-I1I, D-II

4. A-IV. B-1I1. C-1. D-II



Options :

68634040401. 1
68634040402. 2
68634040403. 3
68634040404. 4

Question Number : 2 Question Id : 68634010226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How did 'she’ kill the mad bullock?

1. She hit him with a broomstick

2

. She skinned him and he died
3. She fired bullets with an old shot gun
4, She fought with it and hit him hard
Options :
68634040405. 1
68634040406. 2

68634040407. 3
68634040408. 4

Question Number : 3 Question Id : 68634010227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

She fought with the crows and cagles because

1. They were making a lot of noise

[

. They wanted to tease her cattles
3. They were a nuisance
4. They wanted to eat her chickens

Options :

68634040409. 1
68634040410. 2
68634040411. 3
68634040412. 4

Question Number : 4 Question Id : 68634010228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option:
From the passage it can be said that 'SHE' is a lady:.

1. Suspicious

| )

. Cruel

3. Brave

4, Sensitive
Options :
68634040413. 1
68634040414. 2

68634040415. 3
68634040416. 4

Question Number : 5 Question Id : 68634010229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the sentence, "They are cunning. but a woman's cunning 1s greater "THEY" refers to

1. Cattles

[ )

. Chickens
3. Cows
4, Crows

Options :

68634040417. 1
68634040418. 2
68634040419. 3
68634040420. 4

Sub-Section Number : 2
Sub-Section Id : 686340333
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634010230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct spelling 1s:

1. ACCOMODOTION
2. ACOOMOODATION
3. ACCOMMODATION
4. ACANODATION

Options :

68634040421. 1

68634040422. 2

68634040423. 3
68634040424. 4

Question Number : 6 Question Id : 68634010230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The correct spelling is:
1. ACCOMODOTION
2. ACOOMOODATION
3. ACCOMMODATION
4. ACANODATION
Options :
68634040421. 1
68634040422. 2

68634040423. 3
68634040424. 4

Question Number : 6 Question Id : 68634010230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The correct spelling is:
1. ACCOMODOTION
2. ACOOMOODATION
3. ACCOMMODATION
4. ACAMODATION

Options :
68634040421. 1
68634040422. 2



68634040423. 3
68634040424. 4

Question Number : 7 Question Id : 68634010231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following options is

1. AGOLOMARATE

[ ]

. AGGLOMERATE
3. AGLOMARATE

4. AGGLOMARETA

Options :

68634040425. 1
68634040426. 2
68634040427. 3
68634040428. 4

Question Number : 7 Question Id : 68634010231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following options is

1. AGOLOMARATE

| B

. AGGLOMERATE
3. AGLOMARATE

4. AGGLOMARETA

Options :

68634040425. 1
68634040426. 2
68634040427. 3
68634040428. 4

Question Number : 7 Question Id : 68634010231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correctly spelt word from the following options is

1. AGOLOMARATE

| B

. AGGLOMERATE
3. AGLOMARATE

4. AGGLOMARETA

Options :

68634040425. 1
68634040426. 2
68634040427. 3
68634040428. 4

Question Number : 8 Question Id : 68634010232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The antonym of "CAPTIOUS" 1s:
1. Basic
2. Detailed
3. Capable
4. Tolerant
Options :
68634040429. 1
68634040430. 2

68634040431. 3
68634040432. 4

Question Number : 8 Question Id : 68634010232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The antonym of "CAPTIOUS" 1s:

1. Basic

[ )

. Detailed

Lad

. Capable

4. Tolerant

Options :
68634040429. 1
68634040430. 2



68634040431. 3
68634040432. 4

Question Number : 8 Question Id : 68634010232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The antonym of "CAPTIOUS" 1s:

1. Basic

[ B

. Detailed

LIPS ]

. Capable
4. Tolerant

Options :

68634040429. 1
68634040430. 2
68634040431. 3
68634040432. 4

Question Number : 9 Question Id : 68634010233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

One who helps you more than anything else when problems occur 1s:

1. Apple of one's eye

| B

. Sheet anchor
3. Alive and Kicking
4. Above board

Options :

68634040433. 1
68634040434. 2
68634040435. 3
68634040436. 4

Question Number : 9 Question Id : 68634010233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One who helps you more than anything else when problems occur 1s:

1. Apple of one's eye

| B

. Sheet anchor

LIF¥]

. Alive and Kicking
4. Above board

Options :

68634040433. 1
68634040434. 2
68634040435. 3
68634040436. 4

Question Number : 9 Question Id : 68634010233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

One who helps you more than anything else when problems occur is:

1. Apple of one's eye

| B

. Sheet anchor
3. Alive and Kicking
4. Above board

Options :

68634040433. 1
68634040434, 2
68634040435 3
68634040436. 4

Question Number : 10 Question Id : 68634010234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Replace the underlined part of the sentence with the correct option:

My mother bought ice-cream _for my sister and me, but she didn't buy one herself.

1. for my sister and me. but she didn't buy herself one

2. for my sister and me. but she didn't buy one for herself

3. for my sister and myself. but she didn't buy one for herself
4. for my sister and I. but she didn't buy one for her

Options :



68634040437. 1
68634040438. 2
68634040439. 3
68634040440. 4

Question Number : 10 Question Id : 68634010234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Replace the underlined part of the sentence with the correct option:

My mother bought ice-cream for my sister and me, but she didn't buy one herself.

1. for my sister and me. but she didn't buy herself one
2. for my sister and me. but she didn't buy one for herself
3. for my sister and myself. but she didn't buy one for herself
4. for my sister and I. but she didn't buy one for her
Options :
68634040437. 1
68634040438. 2

68634040439. 3
68634040440. 4

Question Number : 10 Question Id : 68634010234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Replace the underlined part of the sentence with the correct option:

My mother bought ice-cream for my sister and me, but she didn't buy one herself.

1. for my sister and me. but she didn't buy herself one
2. for my sister and me. but she didn't buy one for herself
3. for my sister and myself. but she didn't buy one for herself
4. for my sister and I. but she didn't buy one for her

Options :

68634040437. 1

68634040438. 2

68634040439. 3
68634040440. 4

Question Number : 11 Question Id : 68634010235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ravi invested certain sum on simple iterest, He invested two-third of his sum at 7% p.a and the remaining at
8% p.a. In 3 years he earned ¥1320 as interest. Find the sum invested by him (in 2).

1. 4000

| )

. 5000
3. 6000
4, 6400

Options :

68634040441. 1
68634040442. 2
68634040443. 3
68634040444. 4

Question Number : 11 Question Id : 68634010235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ravi mvested certain sum on simple mterest. He invested two-third of his sum at 7% p.a and the remaining at
8% p.a. In 3 years he earned 1320 as interest. Find the sum invested by him (i ).

1. 4000

| )

. 5000
3. 6000
4. 6400

Options :

68634040441. 1
68634040442. 2
68634040443. 3
68634040444. 4

Question Number : 11 Question Id : 68634010235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ravi mvested certain sum on simple mterest. He invested two-third of his sum at 7% p.a and the remaining at
8% p.a. In 3 years he earned ¥1320 as interest. Find the sum invested by him (in 3).

1. 4000

| ]

. 5000
3. 6000
4. 6400

Options :



68634040441. 1
68634040442. 2
68634040443. 3
68634040444. 4

Question Number : 12 Question Id : 68634010236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what ratio must a grocer mix tea leaves costing Rs.600/'kg and rs.650/kg. So that by selling the mixture at
Rs.682/kg. he gains 10%?

1:3:2

L]
L]
L

4. 4:

L

Options :

68634040445. 1
68634040446. 2
68634040447. 3
68634040448. 4

Question Number : 12 Question Id : 68634010236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what ratio must a grocer mix tea leaves costing Rs.600/kg and rs.650/kg. So that by selling the mixture at
Rs.682/kg. he gains 10%?

1.3:2

[ ]
L]
[ S

4. 4:

Ln

Options :

68634040445. 1
68634040446. 2
68634040447. 3
68634040448. 4

Question Number : 12 Question Id : 68634010236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In what ratio must a grocer mix tea leaves costing Rs.600/kg and rs.650/kg. So that by selling the mixture at
Rs.682/kg. he gains 10%?

1:3:2

[ ]
L]
[ S

Lag
Lad
LA

4. 4:

Ln

Options :

68634040445. 1
68634040446. 2
68634040447. 3
68634040448. 4

Question Number : 13 Question Id : 68634010237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If sec 5 A= Cosec A. then the value of A is

1.30°

| ]
(o
L]

a

4.45°

Options :

68634040449.
68634040450.
68634040451.
68634040452.

AW N =

Question Number : 13 Question Id : 68634010237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If sec 5 A= Cosec A. then the value of A is

1.30°

[ )

15°
3. 60°
4.45°

Options :
68634040449. 1



68634040450. 2
68634040451. 3
68634040452. 4

Question Number : 13 Question Id : 68634010237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If sec 5 A= Cosec A. then the value of A is

1.30°

[ )

15°
3. 60°
4.45°

Options :

68634040449.
68634040450.
68634040451.
68634040452.

S W N =

Question Number : 14 Question Id : 68634010238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): If volumes of two spheres are in the ratio 125:64, then their surface areas will be m the ratio
25:16.

Reason (R): If volumes of two spheres are V. V, and their respective surface areas are S. S,. then

S, ()
S; V2
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) 1s not correct but (R) 1s correct
Options :
68634040453. 1
68634040454. 2

68634040455. 3
68634040456. 4



Question Number : 14 Question Id : 68634010238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): If volumes of two spheres are in the ratio 125:64. then their surface areas will be in the ratio
25:16.

Reason (R): If volumes of two spheres are V. V, and their respective surface areas are 8. S,. then

S (v P
5 V2
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 18 correct but (R) 13 not correct
4. (A) 1s not correct but (R) 1s correct
Options :
68634040453. 1
68634040454. 2

68634040455. 3
68634040456. 4

Question Number : 14 Question Id : 68634010238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): If volumes of two spheres are in the ratio 125:64, then their surface areas will be in the ratio
25:16.

Reason (R): If volumes of two spheres are V. V, and their respective surface areas are 8. S,. then

3

. S
5 _(%Y)

I.S"] l‘\ VE

In the light of the above statements. choose the most appropriate answer from the options given below:

—t

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

b2

. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

L&)

. (A) 15 correct but (R) is not correct

4. (A) 1s not correct but (R) 1s correct

Options :

68634040453. 1
68634040454. 2
68634040455. 3
68634040456. 4

Question Number : 15 Question Id : 68634010239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twelve men can do a work in 8 days and 16 women can do the same work in 12 days. Eight men and 8 women
worked together for 6 days. How many additional men need to be employed to complete the remaming work
i one day?

1.8

[
o

L¥ 5]

12

4. 15

Options :

68634040457. 1
68634040458. 2
68634040459. 3
68634040460. 4

Question Number : 15 Question Id : 68634010239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Twelve men can do a work in 8 days and 16 women can do the same work in 12 days. Eight men and § women
worked together for 6 days. How many additional men need to be employed to complete the remaining work
in one day?

1.8

b2
pl=}

[F5]
I

| B

4,15

Options :

68634040457. 1
68634040458. 2
68634040459. 3
68634040460. 4

Question Number : 15 Question Id : 68634010239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twelve men can do a work in 8 days and 16 women can do the same work in 12 days. Eight men and 8 women
worked together for 6 days. How many additional men need to be employed to complete the remaming work
i one day?

1.8

[
o

L¥ 5]

12
4.15

Options :

68634040457. 1
68634040458. 2
68634040459. 3
68634040460. 4

Question Number : 16 Question Id : 68634010240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many such pairs of letters are there in the word "YOUTUBE". which have as many letters between them
in the word as in the English alphabet?

1. One

| )

. Twao
3. Three

4, None

Options :

68634040461. 1
68634040462. 2
68634040463. 3
68634040464. 4

Question Number : 16 Question Id : 68634010240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many such pairs of letters are there in the word "YOUTUBE", which have as many letters between them
in the word as in the English alphabet?

1. One

| )

. Two
3. Three

4. None

Options :

68634040461. 1
68634040462. 2
68634040463. 3
68634040464. 4

Question Number : 16 Question Id : 68634010240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many such pairs of letters are there in the word "YOUTUBE", which have as many letters between them
in the word as in the English alphabet?

1. One

| B

. Two
3. Three

4. None

Options :



68634040461. 1
68634040462. 2
68634040463. 3
68634040464. 4

Question Number : 17 Question Id : 68634010241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If PAPER is coded as OQEOQIQS. then the code for SINCE will be:

1. STOMOBDI

[

. RTOOMDIK

L]

. RTOMODDI

4. RTOMOBDI

Options :

68634040465. 1
68634040466. 2
68634040467. 3
68634040468. 4

Question Number : 17 Question Id : 68634010241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If PAPER is coded as OQEOQIQS. then the code for SINCE will be:

1. STOMOBDI
2. RTOOMDIK
3. RTOMODDI
4. RTOMOBDI

Options :

68634040465. 1

68634040466. 2

68634040467. 3
68634040468. 4

Question Number : 17 Question Id : 68634010241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If PAPER is coded as OQEOQQIQS. then the code for SINCE will be:

1. STOMOBDI

| B

. RTOOMDIK

LIPS ]

. RTOMODDI

4. RTOMOBDI

Options :

68634040465. 1
68634040466. 2
68634040467. 3
68634040468. 4

Question Number : 18 Question Id : 68634010242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
'A's father is 'B's son. C 1s the paternal Uncle of A and D 1s the brother of B. How 1s D related to C?
1. Son
2. Nephew
3. Brother
4. Uncle
Options :
68634040469. 1
68634040470. 2

68634040471. 3
68634040472. 4

Question Number : 18 Question Id : 68634010242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'A's father 1s 'B's son. C 1s the paternal Uncle of A and D 1s the brother of B. How 1s D related to C?

1. Son

[ )

. Nephew
3. Brother
4. Uncle

Options :

68634040469. 1
68634040470. 2



68634040471. 3
68634040472. 4

Question Number : 18 Question Id : 68634010242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'A's father is 'B's son. C 1s the paternal Uncle of A and D is the brother of B. How 1s D related to C?

1. Son

[

. Nephew
3. Brother
4. Unele

Options :

68634040469. 1
68634040470. 2
68634040471. 3
68634040472. 4

Question Number : 19 Question Id : 68634010243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Complete the following number series.

28 1 23,5172

1. 37

| )

.41
3.43
4,33

Options :

68634040473. 1
68634040474. 2
68634040475. 3
68634040476. 4

Question Number : 19 Question Id : 68634010243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Complete the following number series.

28 1 23,5172

1. 37

| )

.41
3.43
4,33

Options :

68634040473. 1
68634040474. 2
68634040475. 3
68634040476. 4

Question Number : 19 Question Id : 68634010243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Complete the following number series.

2o 5 ¥ 23,312

1.37

| )

.41
3. 43
4. 33

Options :

68634040473. 1
68634040474. 2
68634040475. 3
68634040476. 4

Question Number : 20 Question Id : 68634010244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement: A physics teacher in the class announced to keep a copy of concepts of physics written by her.
Assumptions:
L. The book 1s well-written
II. Every student can afford to buy the book
1. If only I 1s impliett
2. If only IT 1s implieit
3. If neither I nor IT 1s implicit

4. If both I and IT are implicit

Options :

68634040477. 1
68634040478. 2
68634040479. 3
68634040480. 4

Question Number : 20 Question Id : 68634010244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement: A physics teacher in the class announced to keep a copy of concepts of physies written by her.
Assumptions:
L. The book is well-written
II. Every student can afford to buy the book
1. If only I 1s implicit
2. If only II is implicit
3. If neither I nor IT 1s implicit

4. If both I and II are implicit

Options :

68634040477. 1
68634040478. 2
68634040479. 3
68634040480. 4

Question Number : 20 Question Id : 68634010244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement: A physics teacher in the class announced to keep a copy of concepts of physics written by her.
Assumptions:
L. The book 1s well-written
II. Every student can afford to buy the book
1. If only I 1s impliett
2. If only IT 1s implieit
3. If neither I nor IT 1s implicit

4. If both I and IT are implicit

Options :

68634040477. 1
68634040478. 2
68634040479. 3
68634040480. 4

Question Number : 21 Question Id : 68634010245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Musical Instrument)| (Instrumentalists)
A [Sarod 1. |Bismillah Khan
B. |Shehnai IT. |Ravi Shankar
C. |Sitar ITT. |JAmjad Ali Khan|
D. [Tabla IV, |Zakir Hussain

Choose the correct answer from the options given below:

1. A-IV, B-1. C-II, D-III

| B

AL B-1, C-IV. D-II
3. A-IIL B-I. C-I1, DIV
4. A-L. B-III. C-II, D-IV

Options :

68634040481. 1
68634040482. 2
68634040483. 3
68634040484. 4

Question Number : 21 Question Id : 68634010245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Musical Instrument)| (Instrumentalists)
A |Sarod 1. |Bismillah Khan
B. |Shehnai IT. |Ravi Shankar
C. |Sitar 10T |Amjad Ali Khan|
D. |Tabla IV |Zakir Hussain

Choose the correct answer from the options given below:

1. A-IV, B-1. C-II, D-II1

[ )

AL B-1L C-IV. D-II
3. A-IIL B-1. C-I1. DIV
4. A-I. B-III. C-II, D-IV

Options :

68634040481. 1
68634040482. 2
68634040483. 3
68634040484. 4

Question Number : 21 Question Id : 68634010245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Musical Instrument)| (Instrumentalists)
A |Sarod 1. |Bismillah Khan
B. |Shehnai IT. |Ravi Shankar
C. |Sitar 11T |JAmjad Ali Khan|
D. |Tabla IV |Zakir Hussain

Choose the correct answer from the options given below:

1. A-IV. B-1. C-II, D-ITI

[ )

AL B-1L C-IV. D-II

%]

AL B-1L C-IT, DIV
4. A-I. B-III. C-II, D-IV

Options :

68634040481. 1
68634040482. 2
68634040483. 3



68634040484. 4

Question Number : 22 Question Id : 68634010246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In 'Kharif crop season. Crops are sown in the month of June/July and harvested in the months of
September/October.

Statement IT: Example of 'Kharif' crops are wheat. peas. mustard. sesame.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634040485. 1
68634040486. 2

68634040487. 3
68634040488. 4

Question Number : 22 Question Id : 68634010246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In 'Kharif crop season. Crops are sown in the month of June/July and harvested in the months of
September/October.

Statement IT: Example of 'Kharif' crops are wheat. peas. mustard. sesame.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

-

. Both Statement [ and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement [ is incorrect but Statement II is correct

Options :

68634040485. 1
68634040486. 2
68634040487. 3
68634040488. 4



Question Number : 22 Question Id : 68634010246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In Kharif' crop season. Crops are sown in the month of June/July and harvested in the months of
September/October.

Statement II: Example of 'Kharif' crops are wheat. peas, mustard. sesame.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement [ is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634040485. 1
68634040486. 2

68634040487. 3
68634040488. 4

Question Number : 23 Question Id : 68634010247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Repo rate is the rate. at which RBI lends short-term money to the banks against security.
Statement II: Reverse repo rate is always 100 base point. 1% less than Repo rate.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement II 1s correct
Options :
68634040489. 1
68634040490. 2

68634040491. 3
68634040492. 4



Question Number : 23 Question Id : 68634010247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Repo rate is the rate. at which RBI lends short-term money to the banks against security.
Statement II: Reverse repo rate is always 100 base point. 1% less than Repo rate.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4, Statement I is incorrect but Statement II is correct

Options :

68634040489. 1
68634040490. 2
68634040491. 3
68634040492. 4

Question Number : 23 Question Id : 68634010247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Repo rate is the rate. at which RBI lends short-term money to the banks against security.
Statement II: Reverse repo rate is always 100 base point. 1% less than Repo rate.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634040489. 1
68634040490. 2

68634040491. 3
68634040492. 4

Question Number : 24 Question Id : 68634010248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Article of the Indian Constitution provides for equal opportunities for all eitizen in public employment?

1. Article 22

| B

. Article 16

. Artiele 20

LIF¥]

4, Article 25

Options :

68634040493. 1
68634040494. 2
68634040495. 3
68634040496. 4

Question Number : 24 Question Id : 68634010248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Article of the Indian Constitution provides for equal opportunities for all citizen in public employment?

1. Article 22
2. Article 16
3. Article 20
4. Article 25

Options :

68634040493. 1

68634040494. 2

68634040495. 3
68634040496. 4

Question Number : 24 Question Id : 68634010248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which Article of the Indian Constitution provides for equal opportunities for all citizen m public employment?

1. Article 22

[ )

. Article 16

. Article 20

%]

4. Artiele 25

Options :
68634040493. 1
68634040494. 2



68634040495. 3
68634040496. 4

Question Number : 25 Question Id : 68634010249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

(Defect of eye) |(Tyvpe of lens used to remove defect)
Myopia I. |Convex lens

Hvpermetropia| II. [Bi-focal lens

Presbyopia III. |Cvlindrical lenses

Astigmatism | IV [Concave lens

REE

Choose the correct answer from the options given below:

1. A-IIL. B-I. C-II. D-IV
2. A-L. B-IV. C-I1. D-ITI
3. A-IV. B-I. C-III. D-II
4. A-IV. B-1. C-II. D-III

Options :

68634040497. 1

68634040498. 2

68634040499. 3
68634040500. 4

Question Number : 25 Question Id : 68634010249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

(Defect of eve) |(Tyvpe of lens used to remove defect)
MMyopia I. |Convex lens

Hvpermetropia| I [Bi-focal lens

Presbyopia III. |Cvlindrical lenses

Astigmatism | IV. [Concave lens

o[ ofw[>

Choose the correct answer from the options given below:

1. A-IIL, B-1. C-II. D-IV

[ ]

CA-L B-IV, C-1I1, D-III
3. A-IV, B-1, C-I11, D-II
4. A-IV. B-1, C-1I, D-III

Options :

68634040497. 1
68634040498. 2
68634040499. 3
68634040500. 4

Question Number : 25 Question Id : 68634010249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

(Defect of eye) |(Tyvpe of lens used to remove defect)
MMyopia I. |Convex lens

Hvpermetropia| I [Bi-focal lens

Presbyopia III. |Cvlindrical lenses

Astigmatism | IV [Concave lens

REE

Choose the correct answer from the options given below:

1. A-IIL, B-1. C-II. D-IV

[ ]

CA-L B-IV, C-1I1, D-III
3. A-IV, B-1, C-I11, D-II
4. A-IV. B-1. C-1I, D-III

Options :

68634040497. 1
68634040498. 2
68634040499. 3
68634040500. 4



Part B: Chinese

Section Id : 686340204
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 19
Number of Questions to be attempted : 19

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340334
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634010250 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (26 to 41)
Question Label : Comprehension

e

Sub questions

Question Number : 26 Question Id : 68634010251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NS

. SERE

[

[ )

RS

HE

[F%]

——

4.

Options :

68634040501. 1
68634040502. 2
68634040503. 3
68634040504. 4

Question Number : 27 Question Id : 68634010252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EJJ !._.'I

Options :

68634040505. 1
68634040506. 2
68634040507. 3
68634040508. 4

Question Number : 28 Question Id : 68634010253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
we__ @
1.7

i

Options :

68634040509. 1
68634040510. 2
68634040511. 3
68634040512. 4

Question Number : 29 Question Id : 68634010254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. FE
L%
2. I
3.4
4. 3k
Options :

68634040513. 1



68634040514. 2
68634040515. 3
68634040516. 4

Question Number : 30 Question Id : 68634010255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

XM= EEE FH , S[REEBEUET.

L A

| )

s

4B
Options :

68634040517. 1
68634040518.2

68634040519. 3
68634040520. 4

Question Number : 31 Question Id : 68634010256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BXEER , B2 iEE_ RRERET.
Lk
.oy
i
4.18

[ B

Lad

Options :

68634040521. 1
68634040522. 2
68634040523. 3
68634040524. 4

Question Number : 32 Question Id : 68634010257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(7E |, ARIJERTERE T | SREDABI0I___ —FoHiE,
1%

NEIES

4. b3k

[ )

%]

Options :

68634040525. 1
68634040526. 2
68634040527. 3
68634040528. 4

Question Number : 33 Question Id : 68634010258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RS ARIEHABEMNETELE 7.
1. 3k
. F&
3. Bk
4.1

[ )

Options :

68634040529. 1
68634040530. 2
68634040531. 3
68634040532. 4

Question Number : 34 Question Id : 68634010259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIELEERNBARREERF_ #XAEEFEINNG I, RAEEH.
P
2. 4%
3.k
48

Options :
68634040533. 1



68634040534. 2
68634040535. 3
68634040536. 4

Question Number : 35 Question Id : 68634010260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
E2vea =FHHNT | BT,
LT

Options :

68634040537. 1
68634040538. 2
68634040539. 3
68634040540. 4

Question Number : 36 Question Id : 68634010261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wE SRR/ ViS,

&

!_J
i

B

4,

b=

Options :

68634040541. 1
68634040542. 2
68634040543. 3
68634040544. 4

Question Number : 37 Question Id : 68634010262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ftbAR BEEEE 5/,

!._.l
o

G

Options :

68634040545. 1
68634040546. 2
68634040547. 3
68634040548. 4

Question Number : 38 Question Id : 68634010263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT |, FITA ftBEE.
L1E

A

rl_inli

o

Options :

68634040549. 1
68634040550. 2
68634040551. 3
68634040552. 4

Question Number : 39 Question Id : 68634010264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

He 2Rz

‘-

1 3E
2. F
=}
.=

Options :
68634040553. 1



68634040554. 2
68634040555. 3
68634040556. 4

Question Number : 40 Question Id : 68634010265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

BT FWRENREYE,

yIt
il

w
=]
A

Options :

68634040557. 1
68634040558. 2
68634040559. 3
68634040560. 4

Question Number : 41 Question Id : 68634010266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v LLIZE FEREHY.

1. 19274F

. 1923%F

[ B

3. 1925
4. 19205

Options :

68634040561. 1
68634040562. 2
68634040563. 3
68634040564. 4

Question Id : 68634010250 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (26 to 41)
Question Label : Comprehension

e

Sub questions



Question Number : 26 Question Id : 68634010251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ES

. Sk

—

[ B

GEEE
3.4t

At

4. FEH

Options :

68634040501. 1
68634040502. 2
68634040503. 3
68634040504. 4

Question Number : 27 Question Id : 68634010252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&% A

@ W

L¥%]
e
HE

]
=

i
i

Options :

68634040505. 1
68634040506. 2
68634040507. 3
68634040508. 4

Question Number : 28 Question Id : 68634010253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R

12

1.¥7

I

Options :

68634040509. 1
68634040510. 2
68634040511. 3
68634040512. 4

Question Number : 29 Question Id : 68634010254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

k = e

!._.'l
=

A=

A

4.3k

%]

Options :

68634040513. 1
68634040514. 2
68634040515. 3
68634040516. 4

Question Number : 30 Question Id : 68634010255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
XMREEE #FE , 28T,

LA
[ ¥

| B

4.2

Options :
68634040517. 1



68634040518. 2
68634040519. 3
68634040520. 4

Question Number : 31 Question Id : 68634010256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BXEER , #lI2iEE  RRERENT.
1.1k
.y
i
4. 18

[ B

Lad

Options :

68634040521. 1
68634040522. 2
68634040523. 3
68634040524. 4

Question Number : 32 Question Id : 68634010257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{RE , MRAIERERT | TRl —ESEm),
1.k
[Ek
4 5k

| )

%]

Options :

68634040525. 1
68634040526. 2
68634040527. 3
68634040528. 4

Question Number : 33 Question Id : 68634010258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RSB ARENSITE S T,
s
S
3 Foke
4. 3%

[y

| ]

Options :

68634040529. 1
68634040530. 2
68634040531. 3
68634040532. 4

Question Number : 34 Question Id : 68634010259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EEIARIRAIRR R RSB FAR WAEETFEINS— , RARBEH.

1.2
2.4&
3.bk
48

Options :

68634040533. 1

68634040534. 2

68634040535. 3

68634040536. 4

Question Number : 35 Question Id : 68634010260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BS  —ERRNT |, FBAMSSTRE,
SRS
2.4
3.3

Hit

4.

Options :
68634040537. 1



68634040538. 2
68634040539. 3
68634040540. 4

Question Number : 36 Question Id : 68634010261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HE e =Yl Vil

R
o GF

B

4.

b=

Options :

68634040541. 1
68634040542. 2
68634040543. 3
68634040544. 4

Question Number : 37 Question Id : 68634010262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iR wmEEE_ ABES5—R/IE,
LA
3.35...H...

| ]

r::FF

Options :

68634040545. 1
68634040546. 2
68634040547. 3
68634040548. 4

Question Number : 38 Question Id : 68634010263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fthint2.7 , FIRA fBAIE.
1.1

%

rl_illi

i

Options :

68634040549. 1
68634040550. 2
68634040551. 3
68634040552. 4

Question Number : 39 Question Id : 68634010264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

# Rz

&

L&

2.

3.8

4. B
Options :
68634040553. 1
68634040554. 2

68634040555. 3
68634040556. 4

Question Number : 40 Question Id : 68634010265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2T FREENREFE,
 XUBRAE

oy

[ ]

Options :
68634040557. 1



68634040558. 2
68634040559. 3
68634040560. 4

Question Number : 41 Question Id : 68634010266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fhepll2  FAHEN.

1. 19274F

.1923%F

[

Lad

.1925
4. 192068

Options :

68634040561. 1
68634040562. 2
68634040563. 3
68634040564. 4

Question Id : 68634010250 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (26 to 41)
Question Label : Comprehension

EES

Sub questions

Question Number : 26 Question Id : 68634010251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e

—

. Sk

[ )

GEEE
3.4t

At

4. EB

Options :

68634040501. 1
68634040502. 2
68634040503. 3
68634040504. 4



Question Number : 27 Question Id : 68634010252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B 71

W W

L¥%]
e
HE

]
=

e
S

Options :

68634040505. 1
68634040506. 2
68634040507. 3
68634040508. 4

Question Number : 28 Question Id : 68634010253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wE___ @
1.7

op

Options :

68634040509. 1
68634040510. 2
68634040511. 3
68634040512. 4

Question Number : 29 Question Id : 68634010254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



N
E

%]
>
+

=
H

Options :

68634040513. 1
68634040514. 2
68634040515. 3
68634040516. 4

Question Number : 30 Question Id : 68634010255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
XMREFEE FE , J2C&{uUe 7.

LA

| )

T

4.2
Options :
68634040517. 1
68634040518. 2

68634040519. 3
68634040520. 4

Question Number : 31 Question Id : 68634010256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BXEPER  I2MET HFREEEIT.
Lk
.y
3
4.18

| B

%]

Options :
68634040521. 1



68634040522. 2
68634040523. 3
68634040524. 4

Question Number : 32 Question Id : 68634010257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(RE | tEfIJEBEET | REEBI0]_ —EHE,
1. 2k
[EE
4. b3

[ B

Lad

Options :

68634040525. 1
68634040526. 2
68634040527. 3
68634040528. 4

Question Number : 33 Question Id : 68634010258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RBARIEHABHEMETELRE 7.

FE

3. Fk

4. #E

—t

[ ]

Options :

68634040529. 1
68634040530. 2
68634040531. 3
68634040532. 4

Question Number : 34 Question Id : 68634010259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SRS R BT WAEEFBINE— , RAREEMH.

1.2
2 E
3.tk
4.8

Options :

68634040533. 1

68634040534.2

68634040535. 3

68634040536. 4

Question Number : 35 Question Id : 68634010260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
®F  —FNHRNT , BEREERT,
R
2. 57
3.3

ot

4,

Options :

68634040537. 1
68634040538. 2
68634040539. 3
68634040540. 4

Question Number : 36 Question Id : 68634010261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wE SRR/ ViS,

&

!_J
i

B

4,

b=

Options :
68634040541. 1



68634040542. 2
68634040543. 3
68634040544. 4

Question Number : 37 Question Id : 68634010262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i EEEE HNES /I,
3. 5...H...

(]
s

[i*l_-'Ff

Options :

68634040545. 1
68634040546. 2
68634040547. 3
68634040548. 4

Question Number : 38 Question Id : 68634010263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fbisf+A T, B4 b,
L&

%

rz‘:

i

Options :

68634040549. 1
68634040550. 2
68634040551. 3
68634040552. 4

Question Number : 39 Question Id : 68634010264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



# SRz

oo A

Options :

68634040553. 1
68634040554. 2
68634040555. 3
68634040556. 4

Question Number : 40 Question Id : 68634010265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST FNBERN/R S,
 XUBRAE

oy

[ )

L
=1
ot
A

Options :

68634040557. 1
68634040558. 2
68634040559. 3
68634040560. 4

Question Number : 41 Question Id : 68634010266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fhehllE  SFAHEE.

10278
. 19235

[y

[

Lad

.1925
4. 192068

Options :
68634040561. 1



68634040562. 2
68634040563. 3
68634040564. 4

Sub-Section Number : 2
Sub-Section Id : 686340335
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634010267 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (42 to 49)
Question Label : Comprehension

375 )
Sub questions

Question Number : 42 Question Id : 68634010268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT

[y

R

| B

iz
A
=25

Lad

=

Options :

68634040565. 1
68634040566. 2
68634040567. 3
68634040568. 4

Question Number : 43 Question Id : 68634010269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2]

B N 3 P

Options :



68634040569. 1
68634040570. 2
68634040571. 3
68634040572. 4

Question Number : 44 Question Id : 68634010270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2]

 iRIKTS

R

3.BAT

KBS

—t

| o]

.

Options :

68634040573. 1
68634040574. 2
68634040575. 3
68634040576. 4

Question Number : 45 Question Id : 68634010271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HE

i
S
il

Options :

68634040577. 1
68634040578. 2
68634040579. 3
68634040580. 4

Question Number : 46 Question Id : 68634010272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"
N W

9
i
o

4. FEF
Options :
68634040581. 1
68634040582. 2

68634040583. 3
68634040584. 4

Question Number : 47 Question Id : 68634010273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2]

BRI AE

TS

BOL7i 55

4. <k

—

[

L¥%]

Options :

68634040585. 1
68634040586. 2
68634040587. 3
68634040588. 4

Question Number : 48 Question Id : 68634010274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2]

AE

g

B

oy

| )

%]

=

ik

Options :
68634040589. 1



68634040590. 2
68634040591. 3
68634040592. 4

Question Number : 49 Question Id : 68634010275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2]

!._.'I
i g
=

4. kU

Options :

68634040593. 1
68634040594. 2
68634040595. 3
68634040596. 4

Question Id : 68634010267 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (42 to 49)
Question Label : Comprehension

375 )
Sub questions

Question Number : 42 Question Id : 68634010268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A
LR
et
¥l
At

| )

Lad

=

Options :

68634040565. 1
68634040566. 2
68634040567. 3
68634040568. 4



Question Number : 43 Question Id : 68634010269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2]

>

[

5 N I

Options :

68634040569. 1
68634040570. 2
68634040571. 3
68634040572. 4

Question Number : 44 Question Id : 68634010270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HET
1. 7K
 HRFERT
BATS
KB

-

L]

e

Options :

68634040573. 1
68634040574. 2
68634040575. 3
68634040576. 4

Question Number : 45 Question Id : 68634010271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i
i}

i
S
il

4. ER

Options :

68634040577. 1
68634040578. 2
68634040579. 3
68634040580. 4

Question Number : 46 Question Id : 68634010272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Har
LT

=
- IOm

BFF
4. BF

| )

%]

Options :

68634040581. 1
68634040582. 2
68634040583. 3
68634040584. 4

Question Number : 47 Question Id : 68634010273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R

BRI AE

 VEES

BOL7i 55

4. <k

—

[ )

L¥%]

Options :
68634040585. 1



68634040586. 2
68634040587. 3
68634040588. 4

Question Number : 48 Question Id : 68634010274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
275
1. A%
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Lad
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ket

Options :

68634040589. 1
68634040590. 2
68634040591. 3
68634040592. 4

Question Number : 49 Question Id : 68634010275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. Kk

Options :

68634040593. 1
68634040594. 2
68634040595. 3
68634040596. 4

Question Id : 68634010267 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (42 to 49)
Question Label : Comprehension

HE

Sub questions



Question Number : 42 Question Id : 68634010268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040565. 1
68634040566. 2
68634040567. 3
68634040568. 4

Question Number : 43 Question Id : 68634010269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040569. 1
68634040570. 2
68634040571. 3
68634040572. 4

Question Number : 44 Question Id : 68634010270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040573. 1
68634040574. 2
68634040575. 3
68634040576. 4

Question Number : 45 Question Id : 68634010271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040577. 1
68634040578. 2
68634040579. 3
68634040580. 4

Question Number : 46 Question Id : 68634010272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634040581. 1



68634040582. 2
68634040583. 3
68634040584. 4

Question Number : 47 Question Id : 68634010273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HE
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4. K ing
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Lad

Options :

68634040585. 1
68634040586. 2
68634040587. 3
68634040588. 4

Question Number : 48 Question Id : 68634010274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2]
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Options :

68634040589. 1
68634040590. 2
68634040591. 3
68634040592. 4

Question Number : 49 Question Id : 68634010275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 3Kl

Options :

68634040593. 1
68634040594. 2
68634040595. 3
68634040596. 4

Sub-Section Number : 3
Sub-Section Id : 686340336
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634010276 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (50 to 72)
Question Label : Comprehension

IR IERRE S
Sub questions
Question Number : 50 Question Id : 68634010277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634040597. 1
68634040598. 2
68634040599. 3
68634040600. 4

Question Number : 51 Question Id : 68634010278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
“EICHERE

. EES
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4. Bl

Options :

68634040601. 1
68634040602. 2
686340400603. 3
68634040604. 4
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Question Number : 52 Question Id : 68634010279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B T SRERE
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2. 10,
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18
Options :

68634040605. 1
68634040606. 2
68634040607. 3
686340400608. 4

Question Number : 53 Question Id : 68634010280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2R ARRFEASZ HERE
L 2EAKX
EX
. 2RFE=
4. £BAK

| B}

LS ]

Options :



68634040609. 1
68634040610. 2
68634040611. 3
68634040612. 4

Question Number : 54 Question Id : 68634010281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEEFRTFENERE :

. FEEARESWSA

FERE

. FEYMERRK

4. PEIRS

—t

| o]
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Options :

68634040613. 1
68634040614. 2
68634040615. 3
686340400616. 4

Question Number : 55 Question Id : 68634010282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TR SRR

. HR-EANEBER

-SRI

ED-oMRER

4. PEFEENH
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Options :

68634040617. 1
686340400618. 2
68634040619. 3
68634040620. 4

Question Number : 56 Question Id : 68634010283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B EghEEFETeF VU ENRMER .
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Lad
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4. XBINF
Options :
686340400621. 1
68634040622. 2

68634040623. 3
686340400624. 4

Question Number : 57 Question Id : 68634010284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040625. 1
686340400626. 2
68634040627. 3
686340400628. 4

Question Number : 58 Question Id : 68634010285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(FRERE) BIRRETHA?
1 —F\EEHE

—FEESFMED

3. — T EZREH

1 —EEHNEREE

| ]

Options :
68634040629. 1



68634040630. 2
68634040631. 3
686340400632. 4

Question Number : 59 Question Id : 68634010286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(St 7) SEMER?
1. 3BFE
FE
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Options :

68634040633. 1
68634040634. 2
686340400635. 3
68634040636. 4

Question Number : 60 Question Id : 68634010287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T ETFA ?
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Options :

68634040637. 1
68634040638. 2
68634040639. 3
686340400640. 4

Question Number : 61 Question Id : 68634010288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340400641. 1
686340400642. 2
68634040643. 3
68634040644. 4

Question Number : 62 Question Id : 68634010289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“FEN\HFEREENEROSEHA?
2R ARES

oy
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B AZE, B—1EE
3. HRARHEEER
4 B—itR , B—128
Options :
686340400645. 1
686340400646. 2

68634040647. 3
686340400648. 4

Question Number : 63 Question Id : 68634010290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEIBA R T EFEHIER ?

(EEE)
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- AEE)

4. {(F£)
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Options :
68634040649. 1



68634040650. 2
68634040651. 3
686340400652. 4

Question Number : 64 Question Id : 68634010291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
— N EESNREEE SRR NER ?

1. EESHE
2. HESHAE
3. FESHEE
4. HIESHE

Options :

68634040653. 1

68634040654. 2

68634040655. 3
68634040656. 4

Question Number : 65 Question Id : 68634010292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

686340400657. 1
68634040658. 2
686340400659. 3
686340400660. 4

Question Number : 66 Question Id : 68634010293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR A R T RS EHRYERR ?

A5
B. 5t
C. 3T
D. i

&

=

[]

T
)

Ry
i

g

Ry
i

&

S

n i
o}

RS
A

g

Options :

686340400661. 1
686340400662. 2
68634040663. 3
68634040664. 4

Question Number : 67 Question Id : 68634010294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TR ?
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B.#:PH
C. =&
D. {§R

EIFTEEE .
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4. HEAS5D

Options :

686340400665. 1
68634040666. 2
68634040667. 3
686340400668. 4



Question Number : 68 Question Id : 68634010295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR A ?
A HE
B. QL

C. {3A]
D. 1B1E

RIS
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3. HEZC5D
4. HEAS5D
Options :

68634040669. 1
68634040670. 2
68634040671. 3
68634040672. 4

Question Number : 69 Question Id : 68634010296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PliEER AR Al ?
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C. B
D. HE

PEIFHRESE
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Options :

68634040673. 1
68634040674. 2
686340400675. 3



68634040676. 4

Question Number : 70 Question Id : 68634010297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THIRE. Bia, &5FAE , fiEEdiE A\REEERV LGRS ?

A. JRFRESE
B. MY K E
C. BRI
D. MFIE#EEN

!._.'l
L]

4. H2c 5D

Options :

68634040677. 1
68634040678. 2
68634040679. 3
68634040680. 4

Question Number : 71 Question Id : 68634010298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eijal“aeREs MRS ?

A R4
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CNE
D.ENl
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4. HEBBS5C

Options :
686340400681. 1



686340400682. 2
68634040683. 3
68634040684. 4

Question Number : 72 Question Id : 68634010299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAFRETESIMERZE
A. (EAHiS)
B. {(fL2)
C. {=EEM)
D. (&)
EIFIRE 2.
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Options :

68634040685. 1
68634040686. 2
68634040687. 3
686340400688. 4

Question Id : 68634010276 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (50 to 72)
Question Label : Comprehension

EIRIERESR
Sub questions

Question Number : 50 Question Id : 68634010277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040597. 1
68634040598. 2
68634040599. 3
68634040600. 4

Question Number : 51 Question Id : 68634010278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“BOKCHIERERZ -
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Options :

686340400601. 1
68634040602. 2
686340400603. 3
68634040604. 4
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Question Number : 52 Question Id : 68634010279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040605. 1



68634040606. 2
68634040607. 3
686340400608. 4

Question Number : 53 Question Id : 68634010280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=R ARREAZ HERE
L 2EAKX
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. 2RFE=
4. £BAK
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Options :

686340400609. 1
68634040610. 2
686340400611. 3
68634040612. 4

Question Number : 54 Question Id : 68634010281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HFEERTEHNERR :

. hEEXREeS

[

| o]

. pERIE
. hESMEEB
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LS

Options :

686340400613. 1
68634040614. 2
68634040615. 3
686340400616. 4

Question Number : 55 Question Id : 68634010282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863404006017. 1
686340400618. 2
68634040619. 3
68634040620. 4

Question Number : 56 Question Id : 68634010283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RHErhERFET =T W ENNRSE
1. EER
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E= e
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Lad
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Options :
686340400621. 1
686340400622. 2

68634040623. 3
686340400624. 4

Question Number : 57 Question Id : 68634010284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BigE
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Options :
68634040625. 1



68634040626. 2
68634040627. 3
686340400628. 4

Question Number : 58 Question Id : 68634010285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(REHRR) BERTHA?
L —F\ESHNL

—FEESHEY

5. —FESHHY

1 —EEHERER

| ]

Options :

68634040629. 1
68634040630. 2
68634040631. 3
686340400632. 4

Question Number : 59 Question Id : 68634010286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(It ) SEAHER?
1. 3BiFE
FE
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4. AR

| B
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Options :

68634040633. 1
68634040634. 2
686340400635. 3
686340400636. 4

Question Number : 60 Question Id : 68634010287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040637. 1
68634040638. 2
68634040639. 3
686340400640. 4

Question Number : 61 Question Id : 68634010288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i \REAENSERIERHE ?

| )
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Options :

68634040041. 1
686340400642. 2
686340400643. 3
686340400644. 4

Question Number : 62 Question Id : 68634010289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“FENFHFREENEROSEHA?
2R ARES

oy

| )

E—1TAZE, B 1R
HFRARHEER
4. F—MER , B— 28

%]

Options :
686340400645. 1



68634040646. 2
68634040647. 3
686340400648. 4

Question Number : 63 Question Id : 68634010290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THIBANE T EFRECHIER ?

. ERE)

. {ieiE)

. AWiELE)

4. {(F£)
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| ]
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Options :

68634040649. 1
68634040650. 2
68634040651. 3
68634040652. 4

Question Number : 64 Question Id : 68634010291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
— N5 BRI SEEE SRR ER ?

1. ZESHE
2. BEESHA
3. hESHE
4. HIESHE

Options :

68634040653. 1

68634040654 2

68634040655. 3
68634040656. 4

Question Number : 65 Question Id : 68634010292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B—NMEHE T EPEAZZER ?

B

T.—“l |

H)H

3. RKES

4. GwmTT
Options :
68634040657. 1
68634040658. 2
68634040659. 3
68634040660. 4

Question Number : 66 Question Id : 68634010293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR TR EHAYERR ?

A FA
B. &
C.HEt
D. #Hid

RIS

I

T
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4. HEA5D

Options :

68634040661. 1
686340400662. 2
68634040663. 3
68634040664. 4

Question Number : 67 Question Id : 68634010294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR TNEAE ?
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Options :

68634040665. 1
686340400666. 2
68634040667. 3
686340400668. 4

Question Number : 68 Question Id : 68634010295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR ZER A ?
A HE
B. #Mitt;

C. {Ha
D. {818

PEIFHRESE

;a
B
o
)
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4 HAEAED

Options :

68634040669. 1
68634040670. 2
68634040671. 3
68634040672. 4



Question Number : 69 Question Id : 68634010296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oL RN ?

A 38
HE
C.FZ
D.HE
EIFHEESE
1.HEBS5C
2. REcSD
3. 32A 5B
4. HEAS5D
Options :

68634040673. 1
68634040674. 2
68634040675. 3
68634040676. 4

Question Number : 70 Question Id : 68634010297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THIRE. Bia, &5FAE , fiEEdiE A\REEERV LGRS ?
A TRAEEE
B. XAt KEdn

C. BEF
D. MAFREY

PEICHREZE

[ ]
0
T
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4. H2c 5D

Options :

68634040677. 1
68634040678. 2
68634040679. 3



68634040680. 4

Question Number : 71 Question Id : 68634010298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a4 gt MBS ?

A ¥
B. T{E
G = ]
D.EN

PEIFHRESE

1.H2EA B5C
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HEASB

hS

3. HEC5D
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Options :
68634040681. 1
68634040682. 2

68634040683. 3
68634040684. 4

Question Number : 72 Question Id : 68634010299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TIAETFEIERNE
A. (EAHiS)
B. {(flL&2h
C. {=EE )
D. (&)
GRS

!._.'l
L]



Options :

68634040685. 1
68634040686. 2
68634040687. 3
68634040688. 4

Question Id : 68634010276 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time :

Question Numbers : (50 to 72)
Question Label : Comprehension

ERIERESR
Sub questions

Question Number : 50 Question Id : 68634010277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“EEIES

=

—

[ B

3
IR
ARBEDTA

L¥%]

s

Options :

68634040597. 1
68634040598. 2
68634040599. 3
68634040600. 4

Question Number : 51 Question Id : 68634010278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“BOKCHIREE -

KBS

R

===
=

4. B

Options :
68634040601. 1
68634040602. 2

—

[ )

[F%]



68634040603. 3
68634040604. 4

Question Number : 52 Question Id : 68634010279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B T SRERE
L2
2. 10,
3.71
18
Options :

686340400605. 1
68634040606. 2
68634040607. 3
68634040608. 4

Question Number : 53 Question Id : 68634010280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘2EARAFEAZ NERE
1. 2EAK
EX
. 2RAFES
4. 2BAKX

| S

LS ]

Options :

68634040609. 1
68634040610. 2
68634040611. 3
68634040012. 4

Question Number : 54 Question Id : 68634010281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEERTFINEER

._;

d

2. hERIE
. hEVMEER
HPERS

L N]

4

Options :

68634040013. 1
686340400614. 2
68634040615. 3
686340400616. 4

Question Number : 55 Question Id : 68634010282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FIFEEAMA TR HERI2 -

 HR-ERANEECR

R SEERRR

. ED-pHMEECR

4. hFHESHHE

—t

| ]

L N]

Options :

68634040017. 1
68634040618. 2
68634040619. 3
68634040620. 4

Question Number : 56 Question Id : 68634010283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R ERhERFET ST W ENNSE
1. EER

| ]

E= Sle
. JD]J@\;I\-\.

Lad

XS
4. IBINE

Options :
68634040621. 1



68634040622. 2
68634040623. 3
686340400624. 4

Question Number : 57 Question Id : 68634010284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2R

RNERHESR

. FEEEIRAIER

. ERNEGER

[y

| )

Lad

ARRRBERFR

=

Options :

68634040625. 1
686340400626. 2
68634040627. 3
68634040628. 4

Question Number : 58 Question Id : 68634010285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(F2HB) BicRrH4?
L. —F/\EZMEET
. —ThBEZMEiE?
3. —F_EEMEE
4 —BEEMHNBEAER

| ]

Options :

68634040629. 1
68634040630. 2
686340400631. 3
686340400632. 4

Question Number : 59 Question Id : 68634010286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(FE9er) 2ERER ?

ot
i

o
I

4. FARA

Options :

686340400633. 1
68634040634. 2
68634040635. 3
68634040636. 4

Question Number : 60 Question Id : 68634010287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I AEEFAFA ?

oy

. JBIR

[ )

. FH

e
- OO 5

FtEE

%]

s

Options :

686340400637. 1
68634040638. 2
68634040639. 3
686340400640. 4

Question Number : 61 Question Id : 68634010288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e A\REIIENSE2ERE?

1. X057

[ )
el
>

Options :
686340400641. 1



68634040642. 2
68634040643. 3
68634040644. 4

Question Number : 62 Question Id : 68634010289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“_FTEN\ FREEENEROSENA?
2HRARFS
B AE B ER
HREANEEEE
4. FE—PMEHR , B—1E8

[y

| )

Lad

Options :

686340400645. 1
68634040646. 2
68634040647. 3
68634040648. 4

Question Number : 63 Question Id : 68634010290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEIBA R T FECRIER ?

. (EEE)

[y

| ]

. {ieiE)
- AliEE)

4. {F£)

[F%]

Options :

686340400649. 1
68634040650. 2
686340400651. 3
686340400652. 4

Question Number : 64 Question Id : 68634010291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



—NH—FR EEINMEREE B EBR T ER ?
1. EES5HE
2. BEESHA
3. hESHE
4. HIESHE

Options :

68634040653. 1
68634040654. 2
68634040655. 3
68634040656. 4

Question Number : 65 Question Id : 68634010292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B—AMEFE D EPEAZZER ?

Options :

68634040657. 1
68634040658. 2
68634040659. 3
686340400660. 4

Question Number : 66 Question Id : 68634010293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR A R T RS EHRYERR ?

A5
B. 5t
C. 3T
D. i

&

=

[]

T
)

Ry
i

g

Ry
i

&

S

n i
o}

RS
A

g

Options :

686340400661. 1
686340400662. 2
68634040663. 3
68634040664. 4

Question Number : 67 Question Id : 68634010294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TR ?

AN
B.#:PH
C. =&
D. {§R

EIFTEEE .

:
2
i
]

4. HEAS5D

Options :

68634040665. 1
68634040666. 2
686340400667. 3
686340400668. 4



Question Number : 68 Question Id : 68634010295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR A ?
A HE
B. QL

C. {3A]
D. 1B1E

RIS

;a
i
.
T
w)

3. 32c 5D
4. HEA5D
Options :

68634040669. 1
68634040670. 2
68634040671. 3
68634040672 4

Question Number : 69 Question Id : 68634010296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iR A2 aNin ?

AR
B.H
C. B
D. HE

PEIFHRESE

| ]
>0
2l
]
i
o

4. A2 A5D

Options :

68634040673. 1
68634040674. 2
686340400675. 3



68634040676. 4

Question Number : 70 Question Id : 68634010297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THGEE. Bia, £57AF , pBEEe \REFEE /R4 ?

A. JRFRESE
B. MY K E
C. BRI
D. MFIE#EEN

!._.'l
L]

4. H2c 5D

Options :

68634040677. 1
68634040678. 2
68634040679. 3
68634040680. 4

Question Number : 71 Question Id : 68634010298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eijal“aeREs FIERRE ?

A R4
B. T{E
G = ]
D.ENl

PEIFHRESE

b
o0
A
o]

4 HEB5SC

Options :
686340400681. 1



686340400682. 2
68634040683. 3
68634040684. 4

Question Number : 72 Question Id : 68634010299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MAARETEIMERRZE
A. (EAHiS)
B. {(flL&2h
C. {=EEM)
D. (&)
EIFIRE 2.

!._.'l
L]

4 32A ¢c5D

Options :

68634040685. 1
68634040686. 2
68634040687. 3
686340400688. 4

Sub-Section Number : 4
Sub-Section Id : 686340337
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634010300 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (73 to 79)
Question Label : Comprehension

HiF?

Sub questions

Question Number : 73 Question Id : 68634010301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HiF?

A FRIUEHIR T
B. \ZHE E
C. A

D. MEAHE
E. EShEL

ERIFEE

1. AB.C.D.E

| )

.C.E.A.B.D
3.3B,E.A C,D
4.B.E.C.A, D

Options :

68634040689. 1
68634040690. 2
68634040691. 3
68634040692. 4

Question Number : 74 Question Id : 68634010302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HiFr

A.E¥3
Bk
C. iFiF
D.[a Lk
I FEEE

1.CDB.A

| )

.D.C.A.B
3.CABD
1. B. A C,D

Options :

68634040693. 1
68634040694. 2
68634040695. 3
68634040696. 4



Question Number : 75 Question Id : 68634010303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEFROEIE

AHE—
B. {EX]
G =

e

D. 4]
EIFHRESE

1.D.A.B.C

| )

ATEBD
3.B.C,D.A
4.B.A.D.C

Options :

68634040697. 1
68634040698. 2
68634040699. 3
68634040700. 4

Question Number : 76 Question Id : 68634010304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEFROEIE

A /R

B. ALl

C. 7

D.¥aTi=
PEIFHEZE

LADCB

2.A.C.B.D

3.D,A.C.B

4.C.,B.D.A

Options :

68634040701. 1
68634040702. 2
68634040703. 3
68634040704. 4



Question Number : 77 Question Id : 68634010305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R R MR HER

A KAE

B. &N
C. X
D. mMB&F
IFEE
LB ADE
AR 8D
3.C,B.D.A
LCDAB

Options :

68634040705. 1
68634040706. 2
68634040707. 3
68634040708. 4

Question Number : 78 Question Id : 68634010306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEFFRRARIE

AN
B.h

)
D. 7k,
g =

LB AAD

| )

B, C, DA
3B, DA
4 C.D.A. B

Options :

68634040709. 1

68634040710. 2
68634040711. 3



68634040712. 4

Question Number : 79 Question Id : 68634010307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEFRRLAKIE :
ALK
_—
C.
D.

PEIFHRESE

1.B,A.C,D

Jit I3 |1

2.D.B.AC
3.JABDC
4.A.D.B.C

Options :

68634040713. 1
68634040714. 2
68634040715. 3
68634040716. 4

Question Id : 68634010300 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (73 to 79)
Question Label : Comprehension

HiF?

Sub questions

Question Number : 73 Question Id : 68634010301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HiF?

A FRIUEHIR T
B. \&B% E
C. A

D. MEAHE
E. EShEL

ERIFEE

1. AB.C.D.E

| )

.C.E.A.B.D
3.3B,E.A C,D
4.B.E.C.A, D

Options :

68634040689. 1
68634040690. 2
68634040691. 3
68634040692. 4

Question Number : 74 Question Id : 68634010302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HiFr

A.E¥3
Bk
C. iFiF
D.[a Lk
I FEEE

1.CDB.A

| )

.D.C.A.B
3.CABD
1. B. A C,D

Options :

68634040693. 1
68634040694. 2
68634040695. 3
68634040696. 4



Question Number : 75 Question Id : 68634010303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEFRGEE -

AHE—
B. {EX]
G =

e

D. 4]
EIFHRESE

1.D.A.B.C

| )

ATEBD
3.B.C,D.A
4.B.A.D.C

Options :

68634040697. 1
68634040698. 2
68634040699. 3
68634040700. 4

Question Number : 76 Question Id : 68634010304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEFROEIE

A /R

B. ALl

C. 7

D.¥aTi=
PEIFHEZE

LADCB

2.A.C.B.D

3.D,A.C.B

4.C.,B.D.A

Options :

68634040701. 1
68634040702. 2
68634040703. 3
68634040704. 4



Question Number : 77 Question Id : 68634010305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R R MR HER

A KAE

B. BAEEEN
C. X
D. M H &%
GIFREE

1.B.AD.C

| )

A B.C.D
3.C,B,D,A
4.C,D.A.B

Options :

68634040705. 1
68634040706. 2
68634040707. 3
68634040708. 4

Question Number : 78 Question Id : 68634010306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEFFRRARIE

A\
B.h
Tl
D. 7%
EIFREE

LB AAD

| )

B, C, DA
3B, DA
4 C.D.A. B

Options :

68634040709. 1

68634040710. 2
68634040711. 3



68634040712. 4

Question Number : 79 Question Id : 68634010307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEFRRLAKIE :
ALK
_—
C.
D.

PEIFHRESE

1.B,A.C,D

Jit I3 |1

2.D.B.AC
3.JABDC
4.A.D.B.C

Options :

68634040713. 1
68634040714. 2
68634040715. 3
68634040716. 4

Question Id : 68634010300 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0
Question Numbers : (73 to 79)
Question Label : Comprehension

HiF?

Sub questions

Question Number : 73 Question Id : 68634010301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HiF?

A FRIUEHIR T
B. \ZHE E
C. A

D. MEAHE
E. EShEL

ERIFEE

1. AB.C.D.E

| )

.C.E.A.B.D
3.3B,E.A C,D
4.B.E.C.A, D

Options :

68634040689. 1
68634040690. 2
68634040691. 3
68634040692. 4

Question Number : 74 Question Id : 68634010302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEF?

A.E¥3
Bk
C. iFiF
D.[a Lk
I FEEE

1.CDB.A

| )

.D.C.A.B
3.C.ABD
1. B. A C,D

Options :

68634040693. 1
68634040694. 2
68634040695. 3
68634040696. 4



Question Number : 75 Question Id : 68634010303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEFROEIE

AHE—
B. {EX]
G =

e

D. 4]
EIFHRESE

1.D.A.B.C

| )

ATEBD
3.B.C,D.A
4.B.A.D.C

Options :

68634040697. 1
68634040698. 2
686340400699. 3
68634040700. 4

Question Number : 76 Question Id : 68634010304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEFROEIE

A /R
B. KLl
C.#
D.#5Fi=
PEIFHREEE
LA, DB
2B D
3.D,ACE
4.C.B.D.A

Options :

68634040701. 1
68634040702. 2
68634040703. 3
68634040704. 4



Question Number : 77 Question Id : 68634010305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R R MR HER

A KAE

B. &N
C. X
D. mMB&F
IFEE
LB ADE
AR 8D
3.C,B.D.A
LCDAB

Options :

68634040705. 1
68634040706. 2
68634040707. 3
68634040708. 4

Question Number : 78 Question Id : 68634010306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEFFRRARIE

A I
B4

)
D. 7k,
g =

LB AAD

| )

B, C, DA
3B, DA
4 C.D.A. B

Options :

68634040709. 1

68634040710. 2
68634040711. 3



68634040712. 4

Question Number : 79 Question Id : 68634010307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEFRRLAKIE :
ALK
_—
C.
D.

PEIFHRESE

1.B,A.C,D

1ot I |1

3.JABDC
4.A.D.B.C

Options :

68634040713. 1
68634040714. 2
68634040715. 3
68634040716. 4

Sub-Section Number : 5
Sub-Section Id : 686340338
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 80 Question Id : 68634010308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHIRBIRMES) |, FIBEAE

f—: e+ =N, XPFR AP EP AR SRR,
f=: " HHEE+E/\ 8, BIERSFESP AR SRR,
EEEIEEE

. A—59 "R SR

A—58 " mNERER

. B —IEHHE 6 A~ 1H

. B—AIEHS , {B6) _1FHH

[y

[

LF¥]

=

Options :
68634040717. 1



68634040718. 2
68634040719. 3
68634040720. 4

Question Number : 80 Question Id : 68634010308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHIRBEFMNESD |, FIBTEAE -

f—: e EEEA X FRAR PR RERN SRR,
8= “HHEH+-E/\ A, BT PR RERN S EERI.
EEEIEERE

1. B —58 " ERIER

2. 5—58 " B ERRIER
3. A —IEHH{ES) A IEH

4. F—FIERR , {85 _IFH

Options :

68634040717. 1
68634040718. 2
68634040719. 3
68634040720. 4

Question Number : 80 Question Id : 68634010308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIHRBEIRNES |, FIETRAE -
fi]—: — e+ 2=t | X Fahh PR BN EEERIA0E,
f=: “+HE-E+ZE/\ 8 |, NER AR R AR R SRRV,
Jrin =P ER= £
1. 5—56) _ P ERIEH
2. —509— mEERER
3. O IEHEE) A IEH
4. O—A1ER |, B9 _IFA
Options :
68634040717. 1
68634040718. 2

68634040719. 3
68634040720. 4



Question Number : 81 Question Id : 68634010309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHIRBEFRMNESD |, FIBTEAE
f— : hHPREEZRERENRE MUT 7RIS,
= : chEteh PRI NESAE RIS N THETIHER,
EEOIEERE
. A—58 A &5
A58 APERER
. B —IEf{EE) - IER

4. B—AIEH , (B 1FHH

oy

| B

(%]

Options :

68634040721. 1
68634040722. 2
68634040723. 3
68634040724. 4

Question Number : 81 Question Id : 68634010309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THHRBEIFNES) |, FIBESE
f]— : hHSPREEIRFRENRNE M7 7 iTRIEDT.
= : SRR NP RS T BT T HETIRE,
EEOIEERE
=] ) g 1
A58 APERER
=) Tl = ) N

4. B—AIEH , (B 1FHH

[y

| B

LF¥]

Options :

68634040721. 1
68634040722. 2
68634040723. 3
68634040724. 4

Question Number : 81 Question Id : 68634010309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRHRRIFEMNES) |, FIKEIE

fil— : PR FEFEZFEFERNME MUT RIS,
fi1= : hHEhR R NEEERNE MElT T HESThinssT,
EEEIETE

 A—549 A ERER

. A—5a " N EAERR

= 1 = 1= ) N ¥

4. A —AIEH |, {Ba) _1FH

—

[

L]

Options :

68634040721. 1
68634040722. 2
68634040723. 3
68634040724. 4

Question Number : 82 Question Id : 68634010310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHIRBERMNES) |, FIRREAE

fl— : EEERERVAEEE , R ISERIEINERIFEGE.
1= : EHRBEETREIREEE |, AP RSIE T IR RFEGE.
EEREEER

. B—59 &I

A58 "R SR
. B)—IFf , (B9 "R
B —AE |, (B 1EH

—

[ )

L]

e

Options :

68634040725. 1
68634040726. 2
68634040727. 3
68634040728. 4

Question Number : 82 Question Id : 68634010310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FHIRBIRMES) |, FIBEAE

fl— : EEERERVAEEE , R ISERIEINERIFEGE.
1= : EHRETREIREEE |, AR SIE T IR PR,
EEEIEEE

1. 9—58 "FEREA

2. — 58 " FERIES
3. A—IEtfH , (BE "R IER
4. Al—1EHS , (B _IEH

Options :

68634040725. 1
68634040726. 2
68634040727. 3
68634040728. 4

Question Number : 82 Question Id : 68634010310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PMHRBIFRMNES |, FIBTETE -
f]— : EERRTRIVEEIE , hHP RS EHIEINEFRRECE,
8= : EARFETRIVAEEIE |, hHAhREIE T IRNE PR,
EESIEEE
1. 9—58 "FEREA
2. 5—59 " A EAIEH
3. A—IEtfH , (BE "R IER
4. G—FIEF , {86 _IF
Options :
68634040725. 1
68634040726. 2

68634040727. 3
68634040728. 4

Question Number : 83 Question Id : 68634010311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TERBFEMNES |, FIRFRE

fi]— : EWEhE A BEMENRIE,

1= : HREETEARTIIENERTE.
EEEIEEE

A—58 A ERER

. A—509 " A& IE

=) R 251 = ) 7 N

=) e N 23715 ] T

—

[

L]

o

Options :

68634040729. 1
68634040730. 2
68634040731. 3
68634040732. 4

Question Number : 83 Question Id : 68634010311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TIRRIPMED |, FIRTRIE
fi]— : FEEPEARKMENRZIE,
= : BRERPEARSNENNERTE.
PRGBS :

. A—59 "R SR

. A—5a " RAEA

=) 1= =) B N

=) e N 23715 ] T

[y

[

LF¥]

o

Options :

68634040729. 1
68634040730. 2
68634040731. 3
68634040732. 4

Question Number : 83 Question Id : 68634010311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TERBFEMNES |, FIRFRE

fi]— : EWEhE A BEMENRIE,

1= : HREETEARTIIENERTE.
EEEIEEE

A—58 A ERER

. A—509 " A& IE

=) R 251 = ) 7 N

=) e N 23715 ] T

—

[

L]

o

Options :

68634040729. 1
68634040730. 2
68634040731. 3
68634040732. 4

Question Number : 84 Question Id : 68634010312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TIRRIPMESD |, FIRTRIE
f— : iER+TEETREKZ—.
1= : DIRPEN— L.
RGBS :

. A—59 "R SR

. A—5a " RAEA

. A—1EH , (B A1

4. B—ANIEHS , {B6) _1FEH

[y

[

LF¥]

Options :

68634040733. 1
68634040734. 2
68634040735. 3
68634040736. 4

Question Number : 84 Question Id : 68634010312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TERBFEMNET |, FIRFRIE
fl— : IKEETESFIERZ—.
1= : FIETERN—LFEX,
EEEIEEE
A—58 A ERER

. A—509 " A& IE

. a]—1EHE |, {Ba _F1EH

4. A —AIEH |, {Ba) _1FH

—

[

L]

Options :

68634040733. 1
68634040734. 2
68634040735. 3
68634040736. 4

Question Number : 84 Question Id : 68634010312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THRRRIFNET) |, FIETEEE -
fl— : IKEETESFIERZ—.
= : MIEFEN—EEX.
EEEIEEE
A—58 A ERER

. A—58 AN EAES

. a]—1EHE |, {Ba _F1EH

B—/A~Ef , 1Ba) _I1F

—

[ )

L]

e

Options :

68634040733. 1
68634040734. 2
68634040735. 3
68634040736. 4

Question Number : 85 Question Id : 68634010313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEHRRIPMES] |, Flr2IE -
f]— : SFFAIEBSE T T,
= : SANERI T8 T,
EEEIEEE

. A—58 " E0 1

 A—59 TR
f—I1EH# , (B8 A IEH
4. G—1EH# |, (B _1Hf

|_n

I._.'I

L]

Options :

68634040737. 1
68634040738. 2
68634040739. 3
68634040740. 4

Question Number : 85 Question Id : 68634010313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THHERIFMES] |, FIRFETE -
f]— : SFFAIEBSE T T,
= : SANERI T8 T,
EESIEEE

. B—59 &I

A— 55T S
A—IER , (B8 " FIEH
B — 1B |, {86 _1EH

—

I._.'I

L]

-

Options :

68634040737. 1
68634040738. 2
68634040739. 3
68634040740. 4

Question Number : 85 Question Id : 68634010313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEHRRIPMES] |, Flr2IE -
fi— : SFEAEESE T T,
= : SANERI T8 T,
EEEIEEE

. A—5a &R
A—58 A EAER
a]—1FHE , {Ba A 1EH

4. G—A1EH# |, {Ba) —1FH

|_n

I._.'I

L]

Options :

68634040737. 1
68634040738. 2
68634040739. 3
68634040740. 4

Question Number : 86 Question Id : 68634010314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHIRBRMNES) |, FIRREAE

f—: EPIJE{*;EEJ:aiﬁ AR A RZFIEE.,
= : FEERENAZIEHHNSEERERNAY.
EEROEER

. B—59 &I

A— 55T S
A—IER , (B8 " FIEH
B — 1B |, {86 _1EH

—

I._.'I

L]

=

Options :

68634040741. 1
68634040742. 2
68634040743. 3
68634040744. 4

Question Number : 86 Question Id : 68634010314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TERBEFEMNES |, FIRFRE

fl— : FEIFE EEEHEN AN EEEE,
= : TEEENETEEHRNSEEZIER AL,
EEEIEEE

A—58 A ERER

. A—58 "R EAE

. a]—1EHE |, {Ba _F1EH

4. G—A1EHR |, {BE) 10

—

[

L]

Options :

68634040741. 1
68634040742. 2
68634040743. 3
68634040744. 4

Question Number : 86 Question Id : 68634010314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TFRERIFNET) |, FIETESE -

fl— : FEIFE EEEHEN AN EEEE,
= : TEEENETEEHRNSEEZIER AL,
EEEEEE

A—58 A ERER

. A—58 AN EAES

. a]—1EHE |, {Ba _F1EH

B—/A~Ef , 1Ba) _I1F

—

[ )

L]

e

Options :

68634040741. 1
68634040742. 2
68634040743. 3
68634040744. 4

Question Number : 87 Question Id : 68634010315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THHRAEAMET] , — T EWSA). B—E1%ER) ¢
M=A) : BEEERN () XavIvRiaid 7 g VRS,
iHIBR) : E£E2FENRNER FEESREEZ—.
FEIFRE =

1. A SR ENER , 7R E AR IFHREERE
AEREIFE, BRAE AR IFHRRE

3. AT, 1B R FIEH

b2

4. AEHE , {ER IR

Options :

68634040745. 1
68634040746. 2
68634040747. 3
68634040748. 4

Question Number : 87 Question Id : 68634010315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TZHRBEIFANEG , — P EWSA). F—1EiHBER) :
M=)« BEEEN (R) XdvIvnimit 7 REET W ATSEE.
HIER) : BE£EFENRMNEZR FEESAIEEZ—.
IR EE:

1. A SR ENER , 7R E AR IFHREERE
ASREIFH, BRAZEARN FHRERE

(B

3. AIFFE , {B R AIFHR
4. A NFH8 , {2 R IEHE

Options :

68634040745. 1
68634040746. 2
68634040747. 3
68634040748. 4

Question Number : 87 Question Id : 68634010315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THHRAEAMET] , — T EWSA). B—E1%ER) ¢
M=A) : BEEERN () XavIvRiaid 7 g VRS,
iHIBR) : E£E2FENRNER FEESREEZ—.
FEIFRE =

1. A SR ENER , 7R E AR IFHREERE
AEREIFE, BRAE AR IFHRRE

3. AT, 1B R FIEH

b2

4. AEHE , {ER IR

Options :

68634040745. 1
68634040746. 2
68634040747. 3
68634040748. 4

Question Number : 88 Question Id : 68634010316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TZIHRBEIAEMNESG , — P ERRA). 57— 2IRER) :
ME(A) : FEEHRMNEE LEEEREES.
IRER) : MIEPERZMIEEEE THE.
BEIFREE.

1. A SR ENER , 7R E AR IFHREERE
ASREIFH, BRAZEARN FHRERE

(B

3. AIFFE , {B R AIFHR
4. A NFH8 , {2 R IEHE

Options :

68634040749. 1
68634040750. 2
68634040751. 3
68634040752. 4

Question Number : 88 Question Id : 68634010316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THRAEMNET] , — T EWSA). B—E1%ER) ¢
ME(A) : FELHRANEE HEEREE 2,
IRABR) : MEPBRESMEEEE THIE,
PEIFRE =

1. A SR ENER , 7R E AR IFHREERE
AEREIEHE, (HR A2 AR IHARE

3. AT, 1B R FIEH

b2

4. AEHE , {ER IR

Options :

68634040749. 1
68634040750. 2
68634040751. 3
68634040752 4

Question Number : 88 Question Id : 68634010316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TZIHRBEIAEMNESG , — P ERRA). 57— 2IRER) :
ME(A) : FEEHRMNEE LEEEREES.
IRER) : MIEPERZMIEEEE THE.
BEIFREE.

1. A SR ENER , 7R E AR IFHREERE
ASREIFH, BRAZEARN FHRERE

(B

3. AIFFE , {B R AIFHR
4. A NFH8 , {2 R IEHE

Options :

68634040749. 1
68634040750. 2
68634040751. 3
68634040752. 4

Question Number : 89 Question Id : 68634010317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TFHREIFAMNMETD , — 1 EWaA). B— 1 21%8AR) :
M= (A) - FEMHEZ EREREAS TR,
iHEER) : EIEFAIGTEEHA FEFSRIEENER.
PEIFRE =

1. A SR ENER , 7R E AR IFHREERE
AEREIFE, BRAE AR IFHRRE

3. AT, 1B R FIEH

b2

4. AEHE , {ER IR

Options :

68634040753. 1
68634040754. 2
68634040755. 3
68634040756. 4

Question Number : 89 Question Id : 68634010317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TFHRREIRMNEG , — T ENAA). B—12iREAR) :
M= (A) : fEOHEZ BRAEREA ZE R,
iHEER) : EIEFAIGTEEHA FEFSRIEENER.
TEIFREE:

1. A SR ENER , 7R E AR IFHREERE
ASREIFH, BRAZEARN FHRERE

(B

3. AIFFE , {B R AIFHR
4. A NFH8 , {2 R IEHE

Options :

68634040753. 1
68634040754. 2
68634040755. 3
68634040756. 4

Question Number : 89 Question Id : 68634010317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THHREIA-™NEG , — N EWSA). 5 E1HEER) :
M= (A) - FEMHEZ EREREAS TR,
iHE(R) : EIEfIGTEEHA FEFSRIEENER,
FEIEHRE .

1. A SR ENER , 7R E AR IFHREERE
ASREIFH, BRAE AR IFREE

3. AT, 1B R FIEH

b2

4. ANIEHR , {B R IEH

Options :

68634040753. 1
68634040754. 2
68634040755. 3
68634040756. 4

Question Number : 90 Question Id : 68634010318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TZIHRBEIAEMNEG , — P ERSA). 57— 2IRER) :
TRE(A) : LEBIENDEL , MbIZRIEBIERT |, BuEEE.
RABR) : REEHIERERE.

BEIFREE.

1. A SR ENER , 7R E AR IFHREERE
ASREIFH, BRAZEARN FHRERE

(B

3. AIFFE , {B R AIFHR
4. A NFH8 , {2 R IEHE

Options :

68634040757. 1
68634040758. 2
68634040759. 3
68634040760. 4

Question Number : 90 Question Id : 68634010318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THHREEMNETG] , — T EWSA). B—E1%ER) ¢
W (A) : LEEIRE | HEREBE | FREES.
iRBER) : HREFERIEBIE,
FEIEHRE .

1. A SR ENER , 7R E AR IFHREERE
ASREITH, BRAE AR IFHRRE

3. AT, 1B R FIEH

b2

4. ANIEHR , {B R IEH

Options :

68634040757. 1
68634040758. 2
68634040759. 3
68634040760. 4

Question Number : 90 Question Id : 68634010318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TZIHRBEIAEMNEG , — P ERSA). 57— 2IRER) :
TRE(A) : LEBIENDEL , MbIZRIEBIERT |, BuEEE.
RABR) : REEHIERERE.

BEIFREE.

1. A SR ENER , 7R E AR IFHREERE
ASREIFH, BRAZEARN FHRERE

(B

3. AIFFE , {B R AIFHR
4. A NFH8 , {2 R IEHE

Options :

68634040757. 1
68634040758. 2
68634040759. 3
68634040760. 4

Question Number : 91 Question Id : 68634010319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TERHRRIEMNED , — P EWAA). B— 1 RIRER) :
MAEA) : 19455 | FEERERSHZE 28R ARERAL , H==iE 7 e,
HEBR) : hEHEFTR 104052V hiE A BHFIE,
FEITIRE .
1. ASRERIE , 7 R B AR IFRER
ASREE, (BR A2 AR IEHRRE

3. AT, 1B R FIEH

b2

4. ANIEHR , {B R IEH

Options :

68634040761. 1
68634040762. 2
68634040763. 3
68634040764. 4

Question Number : 91 Question Id : 68634010319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THRRREIFEMNESD) , — T EWRA). A1 2iHBR) :

MAEA) : 19455 | FEERERSHZE 28R ARERAL , H==iE 7 e,
IREBR) : PEHETR1940E2 T i A BREFE,

EIFREE:

1. A SR ENER , 7R E AR IFHREERE
ASREIFH, BRAZEARN FHRERE

(B

3. AIFFE , {B R AIFHR
4. A NFH8 , {2 R IEHE

Options :

68634040761. 1
68634040762. 2
68634040763. 3
68634040764. 4

Question Number : 91 Question Id : 68634010319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TERHRRIEMNED , — P EWAA). B— 1 RIRER) :
MAEA) : 19455 | FEERERSHZE 28R ARERAL , H==iE 7 e,
HEBR) : hEHEFTR 104052V hiE A BHFIE,
FEITIRE .
1. ASRERIE , 7 R B AR IFRER
ASREE, (BR A2 AR IEHRRE

3. AT, 1B R FIEH

b2

4. ANIEHR , {B R IEH

Options :

68634040761. 1
68634040762. 2
68634040763. 3
68634040764. 4

Question Number : 92 Question Id : 68634010320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TZIHRBEIAEMNEG , — P ERRA). 57— 2IRER) :
M=A) : HEMZE, 4 Fl.

IRABR) : EMZE , AMIETRE.

EIFREE:

1. A SR ENER , 7R E AR IFHREERE
ASREIFH, BRAZEARN FHRERE

(B

3. AIFFE , {B R AIFHR
4. A NFH8 , {2 R IEHE

Options :

68634040765. 1
68634040766. 2
68634040767. 3
68634040768. 4

Question Number : 92 Question Id : 68634010320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THRERAIFEMNMETD) , — 1 EWSA). B—PEIHBAR) :
M=(A) : HEMZE, 4 M.
IREAR) : EMZE , MIETHE,
FEIEHRE .

1. A SR ENER , 7R E AR IFHREERE
ASREIFH, BRAE AR IFREE

3. AT, 1B R FIEH

b2

4. ANIEHR , {B R IEH

Options :

68634040765. 1
68634040766. 2
68634040767. 3
68634040768. 4

Question Number : 92 Question Id : 68634010320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THIREFEMNET , — P EWSA). 5— T 2IREER) ¢
M=A) : HEMZE, 4 Fl.

IRABR) : EMZE , AMIETRE.

EIFREE:

1. A SR ENER , 7R E AR IFHREERE
ASREIFH, BRAZEARN FHRERE

(B

3. AIFFE , {B R AIFHR
4. A NFH8 , {2 R IEHE

Options :

68634040765. 1
68634040766. 2
68634040767. 3
68634040768. 4

Question Number : 93 Question Id : 68634010321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEFHREFAMNET , —NEWSA). B— 1 2iRAR) :

ME(A) : FERERN—ATEFERE |, 15 2400 ERR2 2035 5EFE)1450m) 145
IRIAR) : BEAEXERES—MEEAHAE | BFENARIBAERA.
PEIETRE 2=

LASREEH , 7R 2 AR IFHERERE
2. ASREER , BERAE AR IEFREE
3.ATFHA, 1B R FIHH
4. AIFHE , {BRIFHR

Options :

68634040769. 1
68634040770. 2
68634040771. 3
68634040772. 4

Question Number : 93 Question Id : 68634010321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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BEIFFREE.
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2. ASRERIER , (BR A2 AR IEFAERE
3.ATFHA, 1B R FIHH
4. AZIEHE , {BR IFH

Options :

68634040769. 1
68634040770. 2
68634040771. 3
68634040772. 4

Question Number : 93 Question Id : 68634010321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040769. 1
68634040770. 2
68634040771. 3
68634040772. 4

Sub-Section Number : 6
Sub-Section Id : 686340339
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634010322 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (94 to 100)
Question Label : Comprehension

ACRd
Sub questions

Question Number : 94 Question Id : 68634010323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hoxd

List I List 11
A ET L |iE3=
B [&F 1 f&s=
C [EEEF IIL. f#Rs
D. [fRl5REE(E IV. p£3<

EIERESE

1LA-III B-II C-I D-IV
2. A-II B-I C-IV D-III
3. A-I B-IV C-II D-III
4, A IV B-III C-I1 D-II

Options :

68634040773. 1

68634040774. 2

68634040775. 3
68634040776. 4

Question Number : 95 Question Id : 68634010324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eoxd
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As 7 ] I SIS
B[] 1[5
Co[ 1] I ifE
D . IV [ES
HEIEREE
1. A-II B-IV C-I1 D-III
2. A-IV B-III C-I1 D-II
3. A-IV B-II C-II D-I
4, A-III B-I C-IV D-II

Options :

68634040777. 1
68634040778. 2
68634040779. 3
68634040780. 4



Question Number : 96 Question Id : 68634010325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BT
List I List IT
A RIS I FEZEG
B. eyl I (IEEs
C. BEEis I PAIE
D. FEEFR IV. EIiEs)
PEIFHREE

1. A-III B-1I C-1 D-IV

[ )

CA-IIT B-1I C-IV D-1
3. A-IL B-I C-IV D-III
4. AT B-III C-1 D-IV

Options :

68634040781. 1
68634040782. 2
68634040783. 3
68634040784. 4

Question Number : 97 Question Id : 68634010326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A [(FEime) | 1 [wEedR
B [(E0  [m Rt
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EIERER
1. A- IV B-1C-II D-III
2. A-II B-II C-I D-IV
3. A-I B-II C-III D-IV
4. A-IIT B-I C-IV D-II

Options :

68634040785. 1
68634040786. 2
68634040787. 3



68634040788. 4

Question Number : 98 Question Id : 68634010327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. [ II. =l
C |E I [SiEm
D. == IV, 257X
PEIFTREEE

1. A-II B-IV C-I D-III
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AT B-1I C-1 D-IV
3. A-IV B-1 C-II D-III
4. A-1 B-II C-1II D-IV

Options :

68634040789. 1
68634040790. 2
68634040791. 3
68634040792. 4

Question Number : 99 Question Id : 68634010328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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PEIFREE
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. A-I B-ITI C-II D-IV
4. A-JIII B-I C-IV D-II

Options :
68634040793. 1



68634040794. 2
68634040795. 3
68634040796. 4

Question Number : 100 Question Id : 68634010329 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. |FIliAfE 1. |po)i|
C EEDE 11 Hess
D. [E=rE V. e

EIERER
1. A-I B-III C-1I D-IV
2 AINIB-ICIVD-II
3. A-III B-I1 C-1 D-IV
4. A-IV B-II C-I D-III

Options :

68634040797. 1
68634040798. 2
68634040799. 3
68634040800. 4

Question Id : 68634010322 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (94 to 100)
Question Label : Comprehension

Aoxd
Sub questions

Question Number : 94 Question Id : 68634010323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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C [EEEF IIL. f#Rs
D. [fRl5REE(E IV. p£3<

EIERESE

1LA-III B-II C-I D-IV
2. A-II B-I C-IV D-III
3. A-I B-IV C-II D-III
4, A IV B-III C-I1 D-II

Options :

68634040773. 1

68634040774. 2

68634040775. 3
68634040776. 4

Question Number : 95 Question Id : 68634010324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eoxd
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1. A-II B-IV C-I1 D-III
2. A-IV B-III C-I1 D-II
3. A-IV B-II C-II D-I
4, A-III B-I C-IV D-II

Options :

68634040777. 1
68634040778. 2
68634040779. 3
68634040780. 4



Question Number : 96 Question Id : 68634010325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. A-IL B-I C-IV D-III
4. AT B-III C-1 D-IV

Options :

68634040781. 1
68634040782. 2
68634040783. 3
68634040784. 4

Question Number : 97 Question Id : 68634010326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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List I List II
A. | {FEIFC) I |[SEERT
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C. | {&ch 1L 5
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2. A-II B-IIT C-1 D-IV
3. A-I B-II C-II1 D-IV
4. A-III B-I C-IV D-II

Options :

68634040785. 1
68634040786. 2
68634040787. 3



68634040788. 4

Question Number : 98 Question Id : 68634010327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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C |E I [SiEm
D. == IV, 257X
PEIFTREEE

1. A-II B-IV C-I D-III

| B

AT B-1I C-1 D-IV
3. A-IV B-1 C-II D-III
4. A-1 B-II C-1II D-IV

Options :

68634040789. 1
68634040790. 2
68634040791. 3
68634040792. 4

Question Number : 99 Question Id : 68634010328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. EE IV | {RIED
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4. A-JIII B-I C-IV D-II

Options :
68634040793. 1



68634040794. 2
68634040795. 3
68634040796. 4

Question Number : 100 Question Id : 68634010329 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. A-III B-I1 C-1 D-IV
4. A-IV B-II C-I D-III

Options :

68634040797. 1
68634040798. 2
68634040799. 3
68634040800. 4

Question Id : 68634010322 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (94 to 100)
Question Label : Comprehension

Aoxd
Sub questions

Question Number : 94 Question Id : 68634010323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040773. 1
68634040774. 2
68634040775. 3
68634040776. 4

Question Number : 95 Question Id : 68634010324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. A-IV B-II C-II D-I
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Options :

68634040777. 1
68634040778. 2
68634040779. 3
68634040780. 4



Question Number : 96 Question Id : 68634010325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 97 Question Id : 68634010326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 98 Question Id : 68634010327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040789. 1
68634040790. 2
68634040791. 3
68634040792. 4

Question Number : 99 Question Id : 68634010328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634040794. 2
68634040795. 3
68634040796. 4

Question Number : 100 Question Id : 68634010329 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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